4 M b5 £ E
BIAHEEEARERSZERER

H & SW5%£7H108 (B) FHEi10K~
% BREWRA4E 401 3=



A5 TR R E T AR AL
4 Pl
ZEE (W@ T K | BETREEEEEBHERESS AR
FR |2 ¥ | BEHREREEABRRMAS ISR
A |BFRO T | BREREREEABELAAS BIRE
BB Ot B |BRERAREZABELAGS BIRE
B |EHEME | BREREREEABBELEGS R
e | FETE T | BTSSR
e
ERE ok
A mom R
EEEERE N H % 2
= 3 R
[UIBIRS E B 5< 0 Ak
BEFBTE W O
FEYMA W B —




/e o
1. B =
2. & ¥
3. =
(1) AF0 4 TS T AR, - SR
(2) BFTCAEEE ~B T 4 BT LB ARG « « « WEER 2
(3) HF5H41H - 3 HEERERARERE - o HREEERS
4. 1 =

(1) AF0 545 ASFEIRDL, YBRE OFARDUZONT - - - k&R 1

5. € O iy



He 2Rm |
MEEM 1
THAEEHEFELERR
[ABEGERR]
HE | R | BE | AR |ia . [} . - .
SRA| 25 | i || mi (RS TERE| L0 m%m&% TR IR R I
e e oL RO
SA| 14| 6 |10 41 21 0| 8 gz -yEB26 TSI 28
- 5452-208 - 41|21
- kXLl2-101  -#HIEB213 ‘BlofL SEEBE AR
7A| 12| 5 6 4 1 0 T |.F&N7  -5boFETAR ij?%fcib\f:&)ﬁ i
“T&IJI18
-'a‘-l"aiz—sos “T4&l21
0B | 14| 7 [ 10| 6 | 1 | 0| 7 [[DLEAs HEE2S REEREEAR
U
- 3203 * S\Ch#H34
cHEY2-204 - T&J21 ‘BofL EEEBE AR
1R 13| 6 L 5 1 0 Tl Kili-208  5bEFAETOR) er?%t;w:&)ﬁ "
« K1L2-101
208 PRI Bl SHIL LA B AR
1Bl | 7 |10] 5| 2|04 [FEE HTERLE8
- ABHAEGE DT80
-FEHE2-203 -'I;%Jllﬁﬂ
- BT ¥R5— HBhLFETUR)
3R 10| 3| 6|3 | 0| o | 7 [FH0 ZETeC
“F&IT (7
S5 74 | 34| 49 | 27 | 7 0 | 40
[iEHRiR])
(BT )
s R4ERE R3IFEE
AN, S HEEIC - REEEI
#5818 ]en 18] 18 oA |as] BlEs |an [B2n
SEtHTE | 4 2 6 7 6 || 33 67.3% 32 60.4%
HEHE| 4 3 5 4 5 5 || 26 53.1% 23 43.4%
EEHT | 2 0 1 1 0 1 5 10.2% 5.7%
EREF] 1 1 1 1 0 0 4 8.2% 17.0%
BFHEHE| 2 1 2 0 3 0 8 16.3% 13 24.5%
ZFHE| 1 0 0 0 0 0 1 2.0% 3.8%
—ptE | 1 1 1 1 1 0 5 10.2% 5.7%
EHH| 10| 6 [ 10| 7 | 10| 6 | 49 53
ABEHH]| 4 4 6 5 3 | 27 55.1% 26 49.1%
MR RNERZ LTS8, R E
[FEEERFRR]
(BT 1)
ey = LN
, 5A| 7R |9R |1MA| 1R | 3R | &% HdpEas  SEEOHA
1MEEB [9(6)]|5(5)|9)|6((5)]9(®)|5®R)| 43(@31) 87.8% 91.2%
2818 1(0) 1(1D] 1) 1(0) 4 (2) 8.2% 5.9%
3[EH 1(0) 1 (0) 2.0% 0.0%
VAEINE] 1(1) 101) 2.0% 2.9%
5[a B
6@ LLE
&5 10(6)[6 (B)|10(7)|7 (B)|10(7)|[6 ()| 49 (34) 100.0% 100.0%

O)RBFIEHESE

R — 1




/EGH 2

OGS FILEE ~FF4FEE T EEERNEIR | e

Hulk 4 JeE ] Hitdsg, FRE IR | JEMuk | B H Mk 15 g Hink )

EE4 WEEE bbb ESE HE A E +t & F | SURHEE| WIEE | TA)IEE | EREE| WEES At

G754 N S92 3TN < U2 | Ny ke | Ny ke | Ny e | Ny e | Ny ke | Ny ke | Ny ke [r

NI~ 53087 3 — 1] 1 m 10 5 050
5H21H
TH1H~
I ; e 11 - B
9H2H~
ol 98268 3 = 2|2 13 6 046
11H1rt|~ 1182388 3 12 3 025
11H20H
VI~ | 4 50098 3 1 1m RN 0.00 14 | 13 093
1H21H
o 1sm27a |10 m 3 00 RN m 1)1 m (Y 0.00 14 | 7 | 050
SHSTEE & |10 (0.00 |18 61 2 [2.00 - 23150 1] 11004 21 1/100|1]1]100] 75 | 41 | 0.55
NI | 53007 4 2 0 M1 0 026
5H21H
TH1H~
o 78298 | 1 = 1 110 101 7 0.39
9H1H~
98288 | 1 = 1 1810.00 HEE 11 069
11H2H~
Thaon 118278| 1 L 2 WA 056
1H4H~
——— 18278 — 1 070
SH1H~
3H22H 8H298 | 1 ] 3 7 078
SHI2ER B | 4 | 8 21067 |3|1/033[1|1(100 12| 2017 | 81 42 0.52
5H1H~
158288 | 1 3 10 4 027
TH1H~
ol 7B278 | 1 | 4 1 m 10 8 062
9H1H~
n| 98278 3 10 11 085
2R~ 4 3068 | 1 2 1% 0.00 REK 8 057
11H20H
IH;F‘Z’;H 18268 | 1 = 3 o 6N 3| 0 12 050
3H1IH~
| 35288 = 2 1 B0 3|0 10 063
SHSER & |4 5(1.25 (19 - 17 2 (0.50 {10| 0 53 | 0.56
AZR | 55308 3 1 300 10 071
5H20H
TH2H~
178288 2 = 3|0 6 050
9H1H~
o] 98298 2 = 3 31 10 0.71
LA 1 m288| 2 | 1 2 2 110 7 054
11H18H
Vi~ go7g| 2| 1 3 1 1 10 10 091
1H20H
PLE=3m288 | 1| 1 2 2 m/ 1 2|0 6 060
3H20H
SH4IER 5 5| 3(0.60 |14 3/1/033|2|2/(100 5/167 | 62033 | | 8 13| 1 {0.08 711014 | 74 49 0.66

47 SEE 14/10/0.71 |70 4| 3|075 (18/25/1.39 13(1.86 (395|013 | [ — 35 5063 (30 4013 | 2| 2|1.00 (31 8026 |325 | 185 | 0.57

H—2




HwEEM 3

SHAEETZEEABRERERR

3

. ABE | ABE | (£ EFE

FE k== Fidl] AEBD N
f EER war | e | % xR i Nk ABERTHEHBES
) i) s | 8ot | 1 Bih - HE zo | — |[BRLEICLVESE
A yNic s | a0t | 2 = ZHERE | | SFATEGH
5= S U7 A = | 4018 | 2 FF TREESR| A AEHE
=3
3 5 BE|TOR | 1| BE-ES | BERE | 7 N
A R i | 601t | 1 Shh - BE |TEEER| A ANEFE
= Hh

N S| 60K | 1 | B8 BE | SERE | T AEFH

£ (m8-mesn) | R

#Hk— 3




